i =b N

BH—n x nBY0LEREc, RBSZREINAI0IFSa, b, #Ec;; = a;Fici; = b;, EEX
998244353 BVH,

HECE

subtaskl(5%) : n < 10

J

(
subtask2(15%) : n < 20
subtask3(40%) : n < 300
subtask4(5%): cis w bt bl

subtaskb(35%): 5 vk bR il

1<n<5000,0<c,;<1

i

%1
Ke2ta, bOS—MIBROERL, RENE—(i, ) HIFEEEEA.
%2

SRS — 0, ROERL,
angRe; Ao AER, RUSTH, SAERRE.

RZBERD; = c; ;. REXITFE—b, BB BT, SISTCEsRa,

8i%3

B, BOERL,

BRWER LS, X—(Th{ER 0 FRAOIE RELH bR RIR.
LKL B B R T .

AEbHIES IR, BBAH FAIES SR,

ROABAE Ry, DUHSIEEEIF A EEES, SASIEY RO Bt — TR,
AN SRR N R ORHELESI, FRLRTEISRERO(1?).

k4

FREFIEI T — RIS IRIMR.,

[RigaFEaL, bREYL

[Biga; = o, FERAsumLb; = ¢, MEEH sum2

XHMRE A BN Esuml + sum2 — zy — (n — z)(n — y) = n*B38%E, BEiCa;, b EAME,

suml + sum2 — zy — (n — z)(n — y) < n?
UERR:
ERS—XJ1, j,a; Fb,; AIBUEN  suml + sum?2 — zy — (n — z)(n — y)AISIHA:


af://n0
af://n3
af://n10
af://n11
af://n13
af://n17
af://n24

WNRa; # c;j,bj #cij, BASHEBO+0—1=—1,
fN%Ra; = ¢;j,bj = cij, BASTBLI+1-1=1,
WRa; # cij,bj =cij, BASTO+1-0=1,
WRa; = c;j,b; # cij, BASTEML+0—-1=1,
BBATTLIAIR, 840N, jRESRELLUEF< n2,
HEERGMIBEDIE—, FUEBGHEER’.

BBATILARIL, WRME T a, bFDBIBEILN, MiZEOKIEREIMENINE, £H5
a; = ¢ j,b; = ¢; ;BN EURAT8E

MREREFRTETT (B) 109MEER, BBARFE—NMEGEH.

%%S‘Ciﬁk

[11https://zh.wikipedia.org/wiki/%E4%BA%8CY%EI%A0%85%ES5%BC%EF%NE4%BF%82%E6%95%B8

[2ICCFNOIRIZFERRE, (2EBVFEEFEMITREIIZTEAN) .
[3]Richard A.Brualdi, (E&%ZF)



af://n40
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